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Name: 

Daily Word Problem

answer: ____________________

2 0 0 0 2 0

A-66

Miss Lisa has 8 pets.

3 are dogs and the rest are cats.

How many cats does she have?
Show your work.
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Daily Word Problem
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answer: ____________________

2 0 0 0 2 0

There are 10 animals on a farm.

3 are pigs.

How many are not pigs?
Show your work.

A-67



Name: 

Daily Word Problem
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answer: ____________________

A-68

2 0 0 0 2 0

Maddie is 2 years older than Tom.

Tom is 9 years old.

How old is Maddie?
Show your work.
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Daily Word Problem
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answer: ____________________

A-69

2 0 0 0 2 0

Mrs. Sweet has 20 seeds.

Mr. Sweet has 10 seeds.

How many seeds do they have in 
all?

Show your work.



Name: 

Daily Word Problem
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A-70

answer: ____________________

2 0 0 0 2 0

Hope picked 10 flowers.

She gives 2 to her grandma.

Then she gives 2 to her dad.

How many flowers does Hope have 
left?

Show your work.
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Daily Word Problem

ANSWERSA-66 through A-70

2 0 0 0 2 0

answer: ____________________

Hope picked 10 flowers.

She gives 2 to her grandma.

Then she gives 2 to her dad.

How many flowers does Hope have 
left?

Show your work.

answer: ____________________

Mrs. Sweet has 20 seeds.

Mr. Sweet has 10 seeds.

How many seeds do they have in 
all?

Show your work.

answer: ____________________

Maddie is 2 years older than Tom.

Tom is 9 years old.

How old is Maddie?
Show your work.

answer: ____________________

There are 10 animals on a farm.

3 are pigs.

How many are not pigs?
Show your work.

answer: ____________________

Miss Lisa has 8 pets.

3 are dogs and the rest are cats.

How many cats does she have?
Show your work.

7 are not pigs5 cats 11 years old

6 flowers30 seeds

8 -- 3 = 5 10 -- 3 = 7

10 -- 2 = 8
8 -- 2 = 6

9 + 2 = 11

20 + 10 = 30


